Class Practice
Rotational Force Centripetal

1. A 5kg bucket of water is being held by a 1.5m rope.
a. Draw the forces on this system.

b. What is the tension on the rope while it hangs? %ﬁ%%“i

c. Ifthe rope/bucket is swung around a vertical cwcie wE;a;L,Luhe minimum speed?
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d. What is the tension on the rope at the top?
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e. What is the tension on the rope as it swings through the bottom’-’ LN
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2. A 10kg ball and a 20kg ball are rolled to a toward a 30cm loop as seen here. The 20kg ball needs
1o be rolled twice as fast as the 10kg ball. Justify or nullify this statement.
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3. The 10kg ball roles through the 30cm loop at the minimum speed to make the loop.
a. Sketch the ball at the bottom and at the top, add the forces.
o p—
Nob L b PR,
b. What is the force normal asit roIIs through the bottom?
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c. What is the force normai at thitop? P
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d. How fast is the ball going at the top? ) P
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e. Whatqﬁhefmmﬁﬁ%empa‘a&t»swmg&{hmhﬁh*e*ﬁﬁttom?
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